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5 In the case of transactions involving recurring benefits to be provided under a fixed-term contract, the transaction value shall be deemed 
to be the sum of the benefits for the entire duration of the contract, while in the case of transactions involving recurring benefits to be 
provided under a contract of indefinite duration, the transaction value shall be deemed to be the sum of the benefits provided under the 
contract for the first three years of its term. 
6 To be completed in the event of a negative answer to question 1.5. In your answer, please consider whether transactions of the type in 
question are entered into by the parties with unrelated parties and, if so, whether the terms of the contract in question coincide with the 
terms of the transactions with unrelated parties. Please also indicate the mechanism for calculating the remuneration or the unit rates of 
that remuneration. 
7 To be completed if question 2.2 is answered positively. 
8 To be completed if question 2.2 is answered positively. 



 
 

 

 

 

 

 


